ELECTRICAL ENGINEERING

PAPER-I1

A single phase fully controlled bridge converter for supplying high inductive load is fed
by a voltage V  sin wt. The average and rms values of output voltages are

2V \" \" \"
m m _m _m
(a) cos o and \/E (b) 5 COs o and \/E
2V \"
(©) = cos o and Vi (d) ?m cos o and \/5 Vi

In a bridge a.c. to d.c. converter using P-N diode, if the input voltage is V sin wt, what is
the peak inverse voltage across any diode ?

@@ Vv (b) 2V
\4 \
© 7 (d) N

In a 3-phase controlled bridge rectifier with an increase in overlap angle, the output d.c.
voltage

(a) increase (b) decreases

(c) does not change (d) depends on load inductance

A single phase full wave a.c. voltage controller connected from a single phase a.c. supply
of 200 sin 314 t feeds a 10 ohm pure resistive load. For a firing angle of 90°, the power
delivered to load is

(a 05kW (b) 0.75kW

(c) 1.0kW (d) 4.0kW

A single-phase full bridge VSI has inductor L as the load. For a constant voltage, the
current through the inductor is

(a) Square Wave (b) Triangular Wave

(¢) Sine Wave (d) Pulse Wave

Which one pair out of following alternatives is not correctly matched related to d.c. motor
drive ?
(a) Half controlled bridge converter

one quadrant-operation

(b)  Fully controlled bridge converter -  two quadrant-operation
(¢) Dual converter —  four quadrant-operation
(d) Step up chopper —  two quadrant-operation

For speed control of low speed high capacity synchronous motor, the power electronic
circuit used is

(a) A.C. voltage controller (b) Current fed inverter

(c) Voltage fed inverter (d) Cyclo-converter

Assertion : Slip power recovery control is used for speed control of three phase slip
ring induction motor.

Reason : It provides wide speed control down to low speed.

(a) Assertion and Reason are correct. Reason explains Assertion.

(b) Assertion and Reason are correct. Reason does not explain Assertion.

(c) Assertion is true. Reason is false.

(d) Assertion is false. Reason is true.
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faega arfimitent
g - 11
3= YT AR % SMYfT A & T et qora: Fefe S aRafam itV sin wt aieest &t S
& | TTa aieesT & S7rad Ue S-area-Het (3TR.UA.UE.) |9 et

(a) ﬁcos aw& (b) h aw&
T ’\/E T COS ’\/E
2V \Y%
(© — cosamV, (d) — cosatiA2V,

P-N TS WA X g4 Ueh Tt 9RT 9 feeur ¥ Rafds 8, g usE-fa9e Vsin wt &, a9
ot off srre o faRt W forar ufdet™ (peak inverse) et &t

(@ V (b) 2V
\Y \Y
© 7 (d) N
T kot FRifT B el § stiereld shivl sg+ W i fSeur fava
(a) wgarg | (b) =T |
(c) UREfaa-Eigars | (d) YR U R R FRATE |

Teh Tehet hell JUT O U4 ezl a5 Ush Tshet el 200 sin 314 t & W8T U= & FIiSTdT
T BT U 10 319 &% Y WAl 9R Sl N a1 € | 90° SRR ivr & for, 9 =6t 3 =
T &

(a) 0.5T®ar (b) 0.75Twawr

() 1.0fRaRE (d) 4.0fFaME

TS USh-Feltd gof Aq VSI & IR U U L & | U Fer fawa & few, U3 & 9 arelt an gt
(a) SR T (b) BrETER a

(c) ST (d) =T

&4, Tex e @ gty Fefafad famedt 5 @ i a1 378 98 gaterd T8l € ?

(a) 3T T ¥q uRatd — TS T wEe

(b) o7 AT Oq uRkafa S RINE IO

(c) &ait ufafs — IR It v

(d) = SR R SRINE GG

=7 =TeT 3= &THAT o qoahTelt Hiex o Aot =0T o T2t Fogerd SifeRT SoiareTien! IRUT ¢
(a) W4T ezl e (b)  HRT IS U

(c) dezar Titsd Wi (d) kg gRafds

FoF : TRl GUiEeR IRUT HieX S Het =0T 3 forel Tt SifeRt Qw07 ST feham ST € |
HROT :  Fg 7 =11 Ao forg a1et f=or 3 € |

(a) U 3R FHROT ST Gl & AR HROT Y i AT AT |

(b) e 3T HROT ST Wel & AN HROT HY hl AT el FAT € |

(c) U TTE AR BROT ITAE |

(d) T AT IR FROTIAE |
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Output of a welding machine is
(a) High voltage and high current (b) Low voltage and low current
(c) High voltage and low current (d) Low voltage and high current

In a plain single phase inverter

(a) The maximum output frequency is less than frequency of damped oscillation.

(b)  The output frequency can be even higher than the frequency of damped oscillation.
(c) The output frequency is equal to the frequency of damped oscillation.

(d) All of the above

A three phase bridge inverter operating in 180° mode of operation supplies a three phase
pure Y-connected resistive load. The r.m.s. value of fundamental line to line output
voltage is

(@ 04714V, (b) 07797V,

(c) 08165V, d Vv

where V_ is input d.c. supply voltage

S

In a three-phase to single phase cycloconverter, the number of thyristors used are

(@ 4 (b) 6

(¢ 8 (d 18

For four quadrant operation of separately excited d.c. motor, the converter used to
(a) half controlled bridge converter (b) fully controlled bridge converter
(¢) dual converter (d) cyclo-converter

Consider following power electronic circuits related to two-quadrant operation of d.c. drive :

1. Half controlled bridge converter. 2. Fully controlled bridge converter.
3. Dual converter 4.  Chopper

Out of these statements :

(a) 1,2 and 3 are correct (b) 2,3 and 4 are correct

(¢) 3,4 and 1 are correct (d) 4,1 and 2 are correct

Consider following statements related to a current fed inverter :

1. Capacity to recover from occasional commutation failure.

2. Noisy operation

3. Capability of four quadrant operation

4. Simple control and firing circuits.

5. Reverse voltage with standing capability

Out of these statements :

(a) 1,2 and 3 are correct (b) 2,4 and 5 are correct
(c) 1,3 and 4 are correct (d) 1,3,4 and 5 are correct

The PWM technique that provides superior performance characteristics in reducing
harmonics in three phase voltage source inverter is

(a) space vector PWM

(b) sinusoidal PWM

(¢) selected harmonics elimination PWM

(d) minimum ripple current PWM

Series-A 4 SES-08



9.

10.

11.

12.

13.

14.

15.

16.

Afeet w9 o fria grar

(a) ST dioedl U 3T 9T (b) T sieedr ue = amT
(c) =4 dieeal Ua = gRT (d) = ateedr ud 3 91T
Teh AT Uehe shedl Uaieh (3a1e3) |

(a) SITehaw T STgia STaHiad SIoi ol STIT d FHEA & |
(b) T amgia eramfed S it amgfa @ ot efersk &t Tehel € |

(c) Ta st STaHfsa Soi @i 3Tgia & R |
(d) oI af

T FeRell ¥q TdiTeh Tarer st 180° faem & wenferd aict gu Ueh kel Y[ Y-Hatfora ufaeiet ar
T YT T | oA ATe F ATe 7 SteedT 1 aif-Hred-Hof (3TR.TH.TH.) HHF &

(a) 04714V, (b) 0.7797V,

() 0.8165 V, d Vv

st V, fere fg.am. wem seear &

FIehetl & WeheT Shell Iehid URafas | Uger ARl Tt &t |

(@) 4 ®) 6

(c 8 d 18

Ty I 4.4, Hex o TR T e & o Tgar uiafrds &

(a) 37 Tt 9 uRafas (b) Tl Fifa B uRafas
(c) &l aafaT (d) =ohE uREtas

3.1, =oM% I-TqAtT gare ¥ graf-ud e vife gotae e uiuel W [geR S
1. 315 Tt aq uRkafa 2. Ul e | uRketas
3. 5dl uRafaE 4., AR

TR A D ;

(a) 1,23R3THAE | (b) 2,3IAR4TEE |
() 3,43R1THE | (d) 4,1 IR2TEE |

R QTS Ui & Fraf-erd =7 et R foar st
1. I=I-S SRuRad SR § IS8T 8+ i qre
HIATEAYDT T

2.
3. IR At v o 9
4.

5.  ohH dieedl W8 A i g

E—Ff%ﬂ‘rﬁﬁ@l:

(@) 1,23R3TEE | (b) 2,4 FARS5TEE |

() 1,33dR4TEE | (d 1,3,43M5TE |

PWM fafy it firehet siteedt Etd Udiuss o s g | 9 e sififererr 3ar €, &
(a) ™ 9T PWM (b) =T PWM

(c) =AM g faetaT PWM (d) =gATH HHH TR PWM
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A phase controlled converter having ideal thyristor has an overlap of 30° at o = 0°. The
overlap of the converter when it operates at the inverter limit will be

(a) 60° (b) 30°

(¢) less than 30° (d) greater than 30°

In a 3-phase full wave a.c. to d.c. converter, the ratio of output ripple frequency to supply
voltage frequency is

(a) 2 (b)y 3

(¢ 6 @ 12

In a single-phase full wave converter, if load current is I and ripple free, then average
thyristor current will be

(a) (b)

N = QW=

|
1
© 7l (@

A Switching Mode Power Supply (SMPS) operating at 20 kHz to 100 kHz range uses
which of the following as the main switch ?

(a) SCR (b) MOSFET

(c) TRIAC (d UuT

A step down d.c. chopper has an input voltage V, if duty cycle is o and the load is a
resistance R, the rms value of output voltage is

@ oV ) Jav
© o2V ) %

A step down chopper is connected to a d.c. supply. For duty ratio of 0.4 p.u., the output
voltage is 96 V. For the same duty ratio, the output voltage provided by the step up

chopper will be
(a 180V (b) 240V
() 300V (d) 400V

A step down chopper connected to a d.c. supply, supplies a separately excited d.c. motor
at a duty ratio of o. The ripple factor in the terminal voltage of the motor assuming
continuous current conduction is

o 1-a
(@) b ——

1-a o

1 -
© [ @ /7o

A step up chopper is required to deliver load voltage of 660 V from a 220 V d.c. source. If
the non-conduction time of the thyristor is 100 u sec, the required pulse width is

(a) 300 psec (b) 200 p sec

(c) 100 u sec (d) 400 p sec
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17. U shon e aitatas, frad ameet aefeet €, &t o = 0° T 30° =t 3ffd =i & | qiatas =t
T i, ST o8 Wlgeh ol QAT ) W=iiiord &idl €, g

(@) 60° (b) 30°
(c) 30°" A (d) 30° ¥ 3w
18. U TeRot U7 T W4 9 {34, ufatas § e SfFenr sgfa ik wem fova i 1 s &
(@) 2 (b) 3
() 6 @ 12
19. T Ush-sheild Ul o UREc | 47g qR 6RT [ € Gl SHHehT ed & e e QiR 9 e
1
(@ I (b) EI
1 I
© 3 @ 3

20. U Rt /S WreR Fwrs (SMPS) 20 kHz & 100 kHz foraR # sl et &, fet o & fordt e
et =t e WA el & 2
(@ SCR (b) MOSFET
(c) TRIAC d UIT

21. U AR o1 AR U™ Seedt V § | A sk 3TU o iR ¥R Wiy R ¥, a9 Fa
Freed! o S-Hrea-eT (IR.TH.UG.) A ©

@ aVv ®) ~av
© o2V (d) %

22. U UEE AR U K IR | AT € 1 0.4 U.3. Fd U F ford FTd Steedr 96 V E o
3 T ST o o2t STl R §RT e dieedn &1 SR
(a) 180V (b) 240V
(c) 300V (d 400V

23. U YA TR U (3.4 ST @ AT I §U Ueh Yk TSI 5. 61 HeX i o, 1 S T
YT AT & | T RT =TT i T g2 TieX Bl FIRT el | SHHHehT T[oTeh &
o 1-a
(@ 7T~ b ——

1-a o

1—
© [ @ 7o

24, U I =R A 220 V & . fave gid 9 660 V 9R fave faaikd s g | afe aeiee o
ST T 100 W sec &, AT a9 TS i TIeTg ert

(@) 300 =Tzt 4. (b) 200 HTZH! .
(c) 100 T 4. (d) 400 TR 9.
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25. A single phase half controlled bridge rectifier has supply voltage of 400 sin 314 t and
supplies a resistive load. For a firing angle of 60°, the average output voltage will be

200 240
(a) T \Y% (b) T \Y%
300 400
(c) T \Y% (d) T \Y%
26. The minimum number of 2-input NAND gates required to construct one 4-input NAND
gate is
(a 2 (b) 3
() 4 d 5
27. The logic families particularly suited for implementation of LSI and VSI functions are
(a) IPL (b) ECL
(¢) Schottkey TTL (d) CMOS
28. A full adder circuit has
(a) two inputs and one output (b) two inputs and two outputs
(c) three inputs and one output (d) three inputs and two outputs

29. A full substractor can be constructed from two half substractors and a
(a) 2-input NAND gate (b)  2-input NOR gate
(c) 2-input OR gate (d) 2-input AND gate

30. A bulb is controlled by two switches A and B. The bulb glows only when either switch A
or switch B is ON. Its Boolean expression is

(a) AB+AB (b) AB+AB
(c) AB+AB (d) AB+AB
31. A multiplexure has n data inputs, m control inputs and one data output, then
(@ 2M=n (b) 2"=m
(c) m'=2 (d n’=m

32. The basic sequential logic building block in which the output follows the data input as
long as the ENABLE input is active, is

(a) J-K flip-flop (b) D flip-flop
(c) T flip-flop (d) D Latch
33. How many FFs are required to build a binary counter circuit to count from O to 1023 ?
(@ 1 (b) 6
() 10 (d 24
34. The Boolean expression (A + C + D) (B + D + C) may be simplified as
(a) AB+CB (b) AB+C+D
(c0 A+BC+D (d A+B+CD
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25. U Ushel el 3 (A0 I [Teshrl ol U dieear 400 sin 314 t € 3R T UARI€T 9R &
3MIFA AT & | 60° BRI 0T & fordt 3fia fFa ateedr gt

200 240
@ -V (b) ==V

300 400
© =V @ =V

26. TS 4-Fa9t NAND 72 ot 931 & fora 2-Faeit NAND 7t i 3Tavaeh g=dy G ©

(@ 2 () 3
(c) 4 @ 5
27. LSI 3R VSI e sht Shrarer & & fordt foeiy &9 @ qh uRar 3w €
(a) I’L (b) ECL
(c) e TTL (d CMOS
28. U U7 T UNUY T@dT &
(a) T FafemT 3R ueh M (b) T FaATeET R S T
(c) o fafemt 3tk ue frre (d) o FafemEt e <t
29, U YOI QLT S 315 G IR & T T 51 el € 37R Th
(a) 2-FEe NAND 72 d (b) 2-FEFNOR T2 ¥
(c) 2-FMasTORTEH (d) 2-FesTAND T2 ¥

30. U oo g g A 3R B ¥ IR el € | Soa SToldT € shaed Sidieh g A 31e1 g B 3=
e & | ST T AR § |

(a) AB+AB (b) AB+AB
(c) AB+AB (d) AB+AB
31. UH GgEHAH | n el HaATE, m FeEsor At SR v g i €, 9
(a) 2M=n (b) 2"=m
(c) m"=2 (d n?=m

32. U Hifelh shideh qh-HHET0T sofreh S i grer el & STER0T o« de il §, 5
ENABLE fasit &fsha 8, &
(a) J-K TRT-warg (b) D frg-vAra
(c) T ToTa-veig (d Dre=

33. 09 1023 T T & [ fgemmem) rs-=ex aiuer sl &A1 i & 13 v FRs 3T1eredeh & 2
(@ 1 b) 6

() 10 (d 24
34. FfeEA =SH (A + C + D) (B + D + C) Tt T [ohal ST Fehell &

(a) AB+CB® @& (b) AB+C+D®HTE

(c) A+BC+DH e (d A+B+CD®HTE
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For a free running multivibrator, an external trigger is employed
(a) always (b) never
(c) if output voltage is to be regulated  (d) if frequency stabilization is required

Which of the following is used for timing devices :
(a)  Astable multivibrator (b) Monostable multivibrator
(c) Bistable multivibrator (d)  Schmitt Trigger

The speed of an digital IC indicates
(a) how fast a flip-flop can change stages (b) how fast input triggers the output
(c) the rate at which output changes (d) none of these

A full adder can be implemented with half adders and OR gates. A 4-bit parallel full adder
without any initial carry requires

(a) 8 half adders, 4 OR gates (b) 8 half adders, 3 OR gates

(c) 7 half adders, 4 OR gates (d) 7 half adders, 3 OR gates

Which of the following statement is wrong regarding a multivibrator ?
(a)  Output is available continuously

(b) Feed back between two stages is 100%

(c) Positive feedback is employed

(d) When one transistor is ON, the other is OFF.

A CE transistor amplifier has hg, = 100, h,, = 5.2 kQ and r,, = 0. At room temperature V.

=26 mV, the collector current |IC| will be

(a) 10mA (b) 5mA

(c) 1mA (d 0.5mA
Monolithic ICs are fabricated within a

(a) soft stone (b) single stone
(c) silicon layer (d) ceramic layer

A BCD-to-7 segment decoder has 0100 on its input. The active outputs are
(@ acfg (b) b,cfig
(c) b,c,ef (d b,d,e g

The circuit shown in following figure is a

+ 5V

5.
Ao—KF—
BO—M oY

Co—K——

(a) 3-input AND gate (b)  3-input OR gate
(c) 3-input NAND gate (d) 3-input NOR gate
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T (T IgehUeh i STl fTR 3 &

(a) e (b)  wedt et

(c) R Ace s Fafa et | (d) 3 g FeReoT o Savaehdr & |
AR o 3299 W {ohE URaY o WA X € 2

(a) 3T T (b) T TTAh TghUH

(c) Tg-Tifas sghus d) TR

Tt fefsteet IC =t =mer STt &

(a) TRl SToal TRTT-TeAT 31T Rt SeerdT & |

(b) e SToal FTa ot Fael fgTR san € |

(c) TidageH AR

(d) T 9 HE T

U7 ik T fohaarae STeArSTehl @2 OR e | fohar ST Fehel & | Tohdll U gifer & o

4-3h THMTR Y07 IATSTeh i FTeARad st STevaehdl gidl §

(a) 8 3TasT®, 4 OR T (b) 8 3ASTH, 3 OR T
(c) 7 31&arsT, 4 OR T (d) 7 3T, 3 OR 12
TghTh o T H DI TT U TeAd & ?

(a) Td AR S EATE |

(b) T VST & &g qAMEa= 100% BT & |

(c)  oITcHeh QTS Uga erdl € |
(d)  STo TS ZITSTER 31 &Il © o0 SERT 3 eraT € |

T CE g wordsh 7 h,, = 100, h,, = 5.2 KQ @1, = 0. FH % A0HH W V., = 26 mV,

T T | 1| Bt
(a) 10mA (b) 5mA
(c) 1ImA (d) 0.5mA
Hirtetrerer ICs oh1 HTOT fheeh 3T=aTd fopar STrar & 2
(a) HIEe TR (b)  TeheT TR
(c) TafeT= wa (d) TREE T
T BCD-to-7 WA= feshed &1 faer 0100 € | SHeh1 |ishd frer g
(a) a,cf,g (b) b,c,f, g
(¢) b,c,e,f (d b,d,e g
et fom o g T aeS § U
Y
2
Ao—KF—¢
Bo—K———4——Y
C o—X -1
(a) 3-FEet AND e (b):3-ﬁa~eﬁ OR e
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(c) 3-Fasi NAND Tie (d) 3-Ta3T NOR 7

44. The circuit as shown below will work as
C

| L
I\

v(~) AN %R

(a) Positive clipper (b) Half-wave rectifier
(c) Positive clamper (d) Negative clamper
45. Which one of the following is not a sequential circuit / system ?
(a) Clocked S-R flip-flop (b)  Shift register
(c) ROM (d) Ripple counter
46. Output of a logic gate is ‘1’ when all its inputs are at logic ‘0’. The gate is either
(a) aNOR or a NAND gate (b) aNOR or an XOR gate
(c) aNAND or an OR gate (d) aNAND or an XOR gate

47. In Boolean Algebra, if F= (A + B) (A + C) then

() F=AB+AC (b) F=AC+AB
(c0 F=AB+AB (d) F=AC+AB
48. In the television system in India, the odd and even fields are scanned for
(a) 25 times each (b) 25 times each but alternatively
(¢) 50 times each (d) 50 times each but alternatively

49. The magnetic field used in the cavity magnetron to
(a) prevent anode current in the absence of oscillations.
(b) ensures that the oscillations are pulsed.
(c) help in focusing the electron beam, thus preventing spreading.
(d) ensures that the electrons will orbit around the cathode.

50. The modulation index of an AM wave is changed from O to 1. The transmitted power will be

(a) unchanged (b) halved
(c) doubled (d) increased by 50%
51. One of the following is very useful as multiband HF receiving antenna. This is the
(a) conical horn (b) folded dipole
(c) log periodic (d) square loop

52. A rectangular air filled wave guide has cross-section of 4 cm X 10 cm. The minimum
frequency which can propagate in the wave guide is
(a) 1.5GHz (b) 2.0GHz
(c) 2.5GHz (d 3.0GHz

53. In an ideal transmission line with matched load, the V.S.W.R. and reflection coefficient
are respectively
(@ landO (b) landl1
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(c) ocoandO (d) ocand 1
44, o To | ST T GO 39 YehR i T
C

| L
LY

v@ N % R

(a) oS fHRTR (b) FF-TT KEHRT
(c) EFTCH® AR (d) T FAER
45. ™M 9§ S 91 shiH® IRaT / T Te € 2
(a) FFE S-R THAT-TATH (b) TTHR IR
(c) A (d) e T
46. TH ook T o1 (91T *1° & STaieh 3qehl @t (At b ‘0’ & 1 e g arar
(a) THNOR 27¥ar T NAND T (b) THNOR 27¥eT TF XOR T2
(c) WH NAND 371261 T OR T (d) Us NAND 37121 ts XOR T
47. FferA ST H S F = (A + B) (A + C) &, at
(a) F=AB+AC (b) F=AC+AB
(c) F=AB+ AB (d) F=AC+AB
48. XA % G VUTCH § X e fowe &7 wh 2 €
(a) UEH25 TR (b) U 25 IR o] TH & a1 Teh
(c) Ud® 50 9R (d) UF 50 IR Tohe] TH & 9K TH

49. HfE TTHEH | T &7 T B ©
(a) IO ot SR o TS &RT i Tehd & o1 |
(b) 3o wifgd &, v a1 & o |
(c) TAFSH s o BT H Tl 38 WhR HeATd i s & 7 |
(d) TE gHvad A & o7 foh Sorae™ helis & ORI 3R T o |

50. AM T H HIGEH e 0 T 1 URafad foham ST € | S wifert gt

(a) 3TaRafad (b) et

() 3T d) 50% s
51. Hve HF Ul T &l aXE Ffeiiad 3 | i Ush Sgd SUge § 2

(a) HITTheT B (b) TITSS TEAA

(c) i fuRkenfes (d) AR

52. U MFAHR o 9K g€ a0 FRTITehT h ST 1 4 AH x 10 I & | =Faw gha sl
e TTenT B TeroT Y Fehel! €, BT

(a) 1.5GHz (b) 2.0GHz
(¢) 2.5GHz (d) 3.0GHz

53, R ¥ AT 8 U Ueh 379 W07 e o V.S.W.R. 3TR WRIaci UTish Shoen: &
(@) 190 (b)y 1@l
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64.

(c) ocoT0 (d) ocoTaTl
If the radiated power of AM transmitter is 10 kW, the power in the carrier for modulation
index of 0.6 is nearly

(a) 8.24kW (b) 847kW

(c) 926 kW (d) 9.60 kW

The noise figure of an amplifier is 3 dB. Its noise temperature will be above

(a) 145°K (b) 290°K

(c) 580°K (d) 870°K

The cavity magnetron uses strapping to

(a) ensure bunching (b) improve the phase focusing effect
(c) prevent cathode back heating (d) prevent mode jumping

In microwave telemetry, repeater stations are required at every

(a) 2km (b) 5Skm

(¢) 40km (d) 100 km

The main disadvantage of the two hole directional coupler is

(a) low directional coupling (b) poor directivity
(c) high SWR (d) narrow bandwidth
Which of the following modes does not exist in waveguides ?

(@) TE;,mode (b) TE,; mode

(¢c) TEM mode (d TM,, mode

Which one of the following wave guide tuning components is not easily adjustable ?

(a) Screw (b) Iris

(c) Stub (d) Plunger
Satellites used for intercontinental communications are known as
(a) Comsat (b) Domsat

(c) Marisat (d) Intelsat

One of the reasons why vacuum tubes eventually fail at microwave frequencies is that their
(a) noise figure increases

(b) transit time becomes too short

(c) shunt capacitive reactances becomes too large

(d) series inductive reactances become too small

Cassegrain feed is used with a parabolic reflector to
(a) increase the gain of the system

(b) increase the beamwidth of the system

(¢) reduce the size of the main reflector

(d) allow the feed to be placed at a convenient point

In a modulation system, if the modulating voltage remain the same, the modulation index
is halved, when the modulating frequencies is doubled, the system will be
(@ AM (b) FM
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54.

5S.

56.

57.

58.

59.

60.

61.

62.

63.

64.

(c) DM (d) None of the above
g Toh AM ZigHIeX &t fafwora ok 10 kW & o Biger gashieh 0.6 % fo1d ek o 9ifer it
STTHT

(a) 8.24kW (b) 8.47kW

(¢) 9.26 kW (d 9.60 kW

TR Warieh T &atT 31TeheT 3 dB € | SHehT &a ATashH 8T ohTe

(a) 145°K (b) 290°K

(¢c) 580°K (d 870°K

Higet T H T IR gt &

(a) dferHEeq (b) el TG T T &
(c) THUTS IS a9 Ak & (d) Hie STt Ak &
Gew a7 SISt § et @9 i Tegashan gl €, T

(a) 2fFdAL =W (b) 5w

(c) 40Twd. W (d) 100 &t ®
fgfos Afereh wuer # g i &

(a) T ST9TeR SHUfenT (b) TE T

(c) I=@SWR (d) Hepfod svefagy
T R 6 = O @ i WA T e g 2

(a TE,,d s (b) TE, @S

() TEMTIE (d TM,, T

et & @ i s fereht < fim gkl & @ i T ST @ TS e € 2
(@) & (b) 3mERH

(c) o (d) W=
STTHETE U YHROT H e SUUE FeeAld &

(a) wHHEE (b) =HI

(c) TRIIe d) TRAE

Hatd 2ga e a gha W Tt fawet &t St € ? R 8 9 Uk §
(a) AR T THT g A & |

(b) ZifSTe 1 q9F Sgd FH & AT E |

(c) I YR Ui agd 3Tfeeh &t S € |

(d)  SIOT ATHATT FTET g Y &l S & |

RIS WIS & 1 HqU= B 1 TFIT &Il &
(a) o I Al TgH & fow (b) T I =9 ST T * forw
(c) Y& WS Fl 3HR FH A & o0 (d) Bl Tl Fad TH R ST FA 6 ford

TF T WOTelt | A AIGe fa9d TH @l €, Aot S-ead i 37T o ST €, 59 wrger
3T BT T[T Tkl STIelT &, o Jomedt gt
(a AM (b) M
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(c) DM (d) ST T FIE T
65. In a PCM system, the number of quantization levels are 16 and maximum signal
frequency is 4 kHz, the bit transmission rate is
(a) 64 K bits/sec. (b) 16 K bits/sec.
(c) 32 K bits/sec. (d) 32 bits/sec.

66. A band pass signal has significant frequency component in the range of 1.5 MHz to
2 MHz. If the signal is to be reconstructed from its samples, the minimum sampling
frequency will be

(a) 1MHz (b) 2 MHz
(¢c) 3.5MHz (d) 4 MHz
67. For low attenuation, the best transmission medium is
(a) Flexible waveguide (b) Rigid waveguide
(c) Rectangular waveguide (d) Coaxial line

68. A piston attenuator is a

(a) Vane attenuator (b) Waveguide below cut off
(c) Modefilter (d) Flap attenuator
69. Indicate which of the following is not a TWT slow wave structure :
(a) Periodic-permanent magnet (b) Coupled cavity
(c) Helix (d) Ring bar

70. Time division multiplex
(a) can be used with PCM only
(b) combines five groups into a super group
(c) stacks 24 channels in adjacent frequency slots
(d) interleaves pulses belonging to different transmission

71. If the antenna diameter in a radar system is increased by a factor of 9, then the maximum
range will increase by a factor of

(@ 3 (b) 3

¢ 9 (d) 81
72. Picture information is transmitted in TV signal by

(a) FM (b) AM

(c) PAM (d PNM

73. The multicavity Klystron
(a) 1isnot a good level amplifier because of noise.
(b) has a high repeller voltage to ensure a rapid transit time.
(c) 1is not suitable for pulsed operation
(d) needs along transit time through the buncher cavity to ensure current modulation

74. The non-resonant antenna is
(a) Dipole (b) Yogi-uda
(c) Monopole (d) Rhombic

75. A short vertical grounded antenna is designed to radiate as 1 m c/s. If the effective height
of the aerial is 30 meters, the radiation resistance will be
(a) 18.5 ohms (b) 15.8 k ohms
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(¢) 15.8 ohms ] (d) none of the above
65. UH WX F qgged aF H, AR (F2RSvF) WRI i G 16 3R tfeehdy Tohd IR

4 Tohelied &, Sicq TR &

(a) 64 FFel Fw/a, (b) 16 fret Sew/a.
(c) 32 Tt dew/a. (d) 32 @M.

66. TS SUE U Hehd T HewqUl 3G Feh 1.5 MHz ¥ 2 MHz & WG § € | a5 39 Hohd &l

Sk IS | AT AT &1, At FATH JforT STghd g

(a) 1MHz (b) 2MHz
(c) 3.5MHz (d) 4MHz
67. HH LU & o3, Gag 377 Te0T 71w €
(a) T AT R R (b) T T P ToTeRT
(c) STHAEHR TR M RTeh (d) U T e
68. U fee efiurh gran &
(a) o7 &furk (b) T ARIRTERT e 3EF & A
(c) ™IS fthoex (d) T efiures
69. ey, T H | i TWT &iFt a7 ST Tol @
(a) oY Tt e (b) AT P
(c) Efctem (d s

70. I T Ao
(a) PCM % 99 & YA &l Tl & |
(b) U THE I, Th IS TE § AT ¢ |
(c) 24 ool I FHIUE ST AT & Q1Y WA € |

(d) Tafy= FeRol @ Geiud W it STeRmET (3=clied) AT |

71. A fordlt TER-T | U1 1 AT 9 7T 9T 51 ST ot STTeeha ™ W 9¢ ST

@ 3T (b) 3T

(o 9T (d) 817
72. ¥ G A, et |y i STt €

(a) FMEm (b) AMERT

(c) PAMS3RI (d) PNM 3/

73. SEHIX [FREH
(a) Y % RO Teh 37 &R H Y4 T2l & |
(b) U 3o RUTR T TadT & I TehHoT Iu FHvad s & o1 |
(c) wfed yener & ford Suge @I e |
(d) TR Hiat % HATEAT T HShHOT GHT h ST elcll & TAHH HIger GHreed e

& e |
74. 37 SR UeAT R
(a) TE-OA (b) @rH-3er
(c) H=-dreA (d) frew

75. U oY SeareR Ut TR A 1 m.c/s. W fafeRa A & ot sifiyenfeud fear mar g 1 9fg
Tor=ge UTesh ol weTelt Samg 30 Hiex & ot fafereor ufare gm
(a) 18.53MH (b) 15.8k 3™
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(c) 15.8 3w (d) ST H G IS Tél

76. The starting current of a three-phase induction motor is five times the full load current
while its full load slip is 4 percent. The ratio of starting torque to full load torque is
(a) 0.25 (b) 0.50
(c) 1.0 d 2.0
Neglect stator impedance

77. A three phase induction motor runs above the synchronous speed. For self excitation, the
machine
(a) draws real power from the supply
(b) draws reactive power from the supply
(c) feeds reactive power to the supply
(d) feeds real and reactive powers to the supply

78. For a high starting torque, the most suited three phase induction motor is
(a) slip ring type (b) squirrel cage rotor type
(c) deep bar squirrel cage rotor type (d) double cage rotor type

79. The torque speed characteristics of a repulsion motor resembles with that following type
of d.c. motor :

(a) separately excited type (b)  shunt type
(c) differentially compounded type (d) series type
80. Drag cup rotor is used in 2-phase a.c. servomotor
(a) to increase efficiency (b) to increase generated torque
(c) toachieve fast dynamic response (d) to control speed

81. Consider following statements related to universal motor :
1. Speed v/s. torque characteristic is similar to d.c. series motor.
2. Speed is dependent on frequency of supply.
3. Power factor is poor
4.  No problem of sparking at brushes
Out of above statements :
(a) 1 and 2 are true (b) 1 and 3 are true
(c) 1,2 and 4 are true (d) 1,3 and 4 are true

82. A four pole three phase induction motor is running at 4 percent slip at full load. If the
speed of motor be 720 rpm, the supply frequency is

@ 165Hz ®) 25Hz
©) 30Hz @ 50Hz

83. If the input to prime mover of an alternator supplying load to an infinite bus is suddenly
stopped, the alternator
(a) will stop
(b) will continue to run as an alternator
(c) will continue to run as a synchronous motor running in the reverse direction
(d) will continue to run as a synchronous motor running in the same direction

84. The optimistic method of voltage regulation of a three-phase alternator is
(a) synchronous impedance method (b) MMF method
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76.

77.

78.

79.

80.

81.

82.

83.

84.

(c) Zero power fagtor method (d) . ASA method
T TeRetl UROT Hex § UREYH 8RT 0T YR 4RT 3t 97 T[4 & STalfeh ST UidR [9oT 4 Jiqerd ¢ |

TRET SA-3TT07 1 JUITR TA-3Tg0T T S &

(@ 0.25 () 0.50
() 1.0 (d) 2.0
T yfdqaren sl 0 7T |

T TRl UROT HieR ooahlet! 9rel § SR 9eidl & | W-30ei o fotd Jeie
(a) VST ¥ SRfeh AR oAt § |

(b) YT Y UTqEnd v AT |

(c) VST i Ui e St & |

(d) VST i ATEree 3R UTET et St € |

3T YRE S61- 3107 % 72 e 3ok SUeR Frehetl URoT B &

(a) T =TT FeRR A (b) TR 2T WHR

(c) TR T fue TS UhR AT (d) T TR T ThR

TS TN OT F1eX 1 - SAT0T T STASTOT 7 TehX o6 1. 6T, HIeX o ST SAereToT & e & -
(a) JUF IATIA THR H (b) I UFR H

(c) ToasT giad TR (d) SO YR T

TgeheT U147, TaTHIeR | ST T e VT fohall ST &

(a) TETAT SR % ford (b) A FA-2TIOT TG & ford

(c) el TSt ST oha U S o ferdt (d) =ret o o

AT AeR § Gt (= et ) foaR S
1. =61 ST Fot STEOT STTeTeToT .41, S0 Hiex & g9 ¢ |
2. T VR g W AR E |

3. e o A E

4. SO U IR R TEET T E |

ST I H 9

(@ 13dAR2THIE | (b) 13AR3TIE |
() 1,23AR49FE | (d 1,33M4TTE |

T IR Y AT W07 HieR Yol YR W 4 UTG9d U R I I8 | ATE AR i =rer 720 0.1
gl UST A ©

@ 165 Hz (b) 25Hz
() 30Hz (d 50Hz

T 3T I Sl 9R YT F gV IS Teh WedTelcieh T UTeH Yo T HaeT ST a5 & STl ¢ ot

(a) %8 S |
(b) VTSI hi TRE AR Tetall W& |

(c) =TohY X § Tei aTet Joaehiet! HieX i oRE THTIAR =Iofal T |
(d) 34 T H =er At qoashTel HieX i aYE TR =Iofdl T |

T oot s o dieedl MEHe i ST {9ty &
(a) ogeIe Uicaen fafy (b) MMEF fatg
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85S.

86.

87.

88.

89.

90.

91.

92.

93.

(c) ¥ wifere Tporeh fafy (d) ASA fafer
Which one pair is not correctly matched in the following options related to asynchronous
generator ?
List -1 List - 11
(a) Inductive load — Positive voltage regulation
(b) Fractional pitch winding Reduction in harmonics
(¢) Cylindrical rotor Reluctance power zero
(d) Under excitation Lagging power factor

Which one pair is correctly matched in the following options related to electric motor ?
List -1 List - IT

(a)  Universal motor Poor power factor

(b) 2-phase ac servomotor High inertia rotor

(¢)  Under excited synchronous motor Leading power factor

(d) Deep bar induction motor —  Low starting torque

Zero power factor method in an alternator is used to find its

(a) Efficiency (b) Voltage regulation

(c) Armature resistance (d) Synchronous impedance

A 6-pole, 50 Hz, 3-phase induction motor has a full load speed of 950 rpm. At half load its
speed will be

(a) 475 rpm (b) 500 rpm

(c) 975 rpm (d) 1000 rpm

One of the basic requirements of a servomotor is that it must produce high torque at all
(a) Loads (b) Frequencies

(c) Voltages (d) Speeds

The most common two phase a.c. servomotor differ from the standard a.c. induction motor
because it has

(a) higher rotor resistance (b)  high power rating

(c) greater inertia (d) none of the above

At low values of slip ‘s’, the torque of a three phase a.c. induction motor is proportional to

. 1. . . .
(V, is stator voltage, r;, is rotor resistance referred to primary side)

v v

@ (-9 by~
I I

© V(-5 d) Vy-ry-s

A three phase fault occurs at the terminals of an unloaded alternator at an instant when a.c.
voltage in one phase is at maximum value. The variation of d.c. component during fault
period in that phase will depend upon

(a)  Sub transient time constant (b) Transient time constant

(c) Open circuit time constant (d) Armature time constant

2 5
In a synchronous machine, pitch factors for 3 short pitch and 6 short pitch coils are

respectively
(a) 0.5,0.833 (b) 0.866, 0.966
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(c) 0.66,0.833 (d 0.707,1.0
85. qoushTell S § eIt e feorshedt | @ i @1 g7 Tt gRfed T& € 2

T -1 g - 11
(a) ORI 9R — YT Sl (HEE
(b) e T oA —  EREIE | HEY
(c) SR WX —  Yfaery uied I
(d) 39 3TASH — O SR U
86. I AR ¥ Frat-ud e faeheat d @ i o1 I W qAfT € 2
-1 T - II
(a) HEE AlRY — = it T
(b) 5ot w41, FaTEeR ~ I IEE UX
(c) U A JoashTet Hiex — ST VTR OIS
(d) T T U7 HiX — 7 UReE S-St
87. WA | I Ve Utk fafey vreyeRt SRt ST & W R o fort
(a) oI (b) @ FaEa
(c) =R icRg (d)  ToPTEAT Hicraer
88. UH 6-4d, 50 Hz, et U307 Hiex i q0T YR 7 950 rpm & | TR W THeH! 7Ife &t
(a) 475 rpm (b) 500 rpm
(c) 975 rpm (d) 1000 rpm
89. U WATHIEX i W TEvTehdl 48 & foh 30 30 Tot-3TM0l I~ AT e
() @ 9R R (b) Tt aegfeEl W
(c) T acedra W (d) | =Tt |
90. U T TeTerd Tgehel™ W4T, FaTHeR Ueh Wk U.49T. U1 [ieR § 197 Bidl & SRifeh 39 &Il &
(a) IO A iRY (b) Fea vl Wfior
(c) oew STge (d) IR H G FI Tl
91. [T ‘s’ % I A W T R T.4T. U7 HeR HT ToA-THOT FHEA & (V, R atee 8,
ry TTATHS TS I T T e Wiy ),
V2 V2
@ —1-(1-9) b L.
Iy )
© V(-5 d Vior-s

92. U TToheAl T STHIRA TeATeeh & [¥RT W 3T &707 Hfed gial & STd W.4T. aiezal Ueh el § Seadd
TR E | 1Y ol & STl .47, T2k H aRad 361 ol § v s

(a) 3U-&TioTeh U i W (b) &I T fadis W
(c) W URaY 9T I W) (d) STH=R gHg FIdie |
93. wmﬁ%ﬁﬁaw%wﬁamﬁw%wﬁﬂwmﬁmﬁw
TAE
(a) 0.5,0.833 (b) 0.866, 0.966
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(c) 0.66,0.833 (d 0.707,1.0

94. In alternators damper windings are used to
(a) prevent hunting (b) reduce eddy current loss
(c) make the rotor dynamically balanced (d) reduce armature reaction

95. When the load of a normally excited synchronous motor is increased, its power factor

tends to
(a) unity (b) become increasingly leading
(c) become increasingly lagging (d) remain unchanged

96. A 3-phase, 400 V, 50 Hz salient pole synchronous motor will have maximum power at

load angle
(a) 145° (b) less than 90°
(c) 90° (d) more than 90°

97. The torque developed in a 3-phase induction motor will be maximum when its rotor
circuit power factor becomes

(a) 0.707 leading (b)  unity
(c) 0.8 lagging (d) 0.707 lagging
98. Which one of the following is correct application of Amplidyne ?
(a)  Starter for motor (b)  Speed control of motor
(c) Excitation systems (d) Asinverter

99. In stepper motors
(a) moment of inertia is usually high
(b) starting current is high
(c) closed-loop digital feedback control is not possible
(d) bi directional control is possible

100. If the torque angle of a 4-pole synchronous motor is 8 degree electrical, its value in
mechanical angle is
(a) 4 degree (b) 2 degree
(¢) 0.5 degree (d) 0.25 degree

101. The 5™ harmonic component of the induced voltage in a 3-phase a.c. synchronous
generator can be entirely eliminated if winding pitch used be

2 4
@ 3 ) 3
3 6
© % @ =
102. The nature of operating power factor of a 3-phase a.c. induction motor is
(a) always lagging (b) always leading
(c) may be lagging or leading (d) always unity

103. A single phase a.c. hysteresis motor can run at
(a) synchronous speed only.
(b) sub-synchronous speed only.
(c) synchronous and super synchronous speed.
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9.

9s.

96.

97.

98.

99.

100.

101.

102.

103.

(d) synchronous and sub-synchronous speed.

TeTadeh (3TeeTeX) § Heeh a3 Ul <l STl €
(a) BT T & o (b)  oR RT3 T FH FH & o
(c) X HT ISt Aot - o ford (d) 3THR WidTshaT sl T T & o

ST W 3N JodehTelt W2 31 9R T@TaT ST af $8eh JfeR T[UTeh i Tgrd gt

(a) THE (b) U SEH Bl TE

(c) U Sg I & (d) emRaad

T 1T 400 Fie, 50 TG T Yo Todehlctl HIeR st STehdd e TR HioT I &t
(a) 145° (b) 90°FHH

() 90° (d) 90° T 3ty

T TRl UROT HieR H 3T Fo1-3TTE07 STeha™ g STe 3qeh IR URwer 31 vIfeRd 70Tk &I
(@) 0.707 st (b) THE

(c) 0.8 = (d) 0.707 T

1 5 @ uretieTe o1 i 91 el SV € 2

(a) WX & URETF & ©9 H (b) WX & TG AT H T H

(c) SEHATAH (d) v # TE

VRO °

(a) HOH STged G SIH € |

(b) URYH uRT SAFH T |

(c) T=-oy fefstect qATael oo g T&i € |
(d) feefers o TmE E

T 4-4d ToshTctl HIeT T -3l hio7 8-fereget feuht & ot geht o Fifreh hior & grm
(a) 4felt (b) 2feut
(c) 0.5 et @ 0.25 ferht

TS TRl 0.4, JoIehlelt S § 3cqw aifeed § 4o gHi-eh 37ad o I07 &0 ¥ T fohar s
TehdT € IS TR et siarTet ()

(a) %ﬁ (b) %zﬁ

(c) %zﬁ (d) g?r

T T1eheAT .4, TROT HieX & UlTetT 9ok T0Teh ht Wehicl &iell &
(a) B TLRTH (b) e ST
(c) U AT ST (d) TR THE
Teh hellg U.4T. Siferey (Beeitfaw) g

(a) ool JodehTel T TR el Fehdl § |
(b) A ST-TCAHTCA T W =A ool & |
(c) oIl 3T ST Todehlct! Tt TR =t Fehell € |
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104.

10s.

106.

107.

108.

109.

110.

111.

112.

113.

114.

115.

(d) oI 3R SU-TeehTel! dTet W TcT Gobell & |

The voltage fed to the two windings of a two phase a.c. servomotor must have phase
different of

(@ 0° (b) 90°

(c) more than 90° (d) 180°

In synchronous machine the armature flux helps the main flux when the load power factor is
(a) zero lagging (b) unity

(c) zero leading (d) 0.8 lagging

If two mechanically coupled alternators deliver power at 50 Hz and 60 Hz respectively,
then highest speed of the coupled alternators is

(@) 500 rpm (b) 600 rpm

(¢) 3000 rpm (d) 3600 rpm

A 3-phase, 4-pole, 50 Hz induction motor is rotating at 1410 rpm at full load. The value of
induced rotor current frequency will be

(@) 50Hz (b) 47Hz

(¢c) 3Hz (d OHz

In which type of motor, rotor resistance starter is used ?

(a)  Slip ring induction motor (b)  Squirrel cage induction motor
(c) Single phase induction motor (d) synchronous motor

Shaded pole is used in which type of motor ?

(a) d.c. motor (b)  3-phase synchronous motor
(c) 2-phase a.c. motor (d) single phase induction motor

For an 3-phase a.c. induction motor, operating at a slip S, the ratio of developed
mechanical power to air gap power will be

(@ (1-8) () (1-S)

© ~/1-S d 1-4/S

Reactive power output of an a.c. synchronous generator at lagging power factor is limited by
(a) Armature current (b) Field current
(c) Load angle (d) Armature and field current

SF, gas is used in circuit breaker because

(a) Itis cheapest.

(b) Its liquification temperature is less than 0 °C.
(c) Its dielectric strength is highest.

(d) Itis easily available.

The circuit breaker used for the protection of HVDC transmission line is

(a)  Air blast circuit breaker (b)  SF circuit breaker

(¢) Vacuum circuit breaker (d) None of above

The circuit breaker used for the protection of EHV ac transmission line is

(a)  Air blast circuit breaker (b)  SF, circuit breaker

(¢) Vacuum circuit breaker (d) Minimum oil circuit breaker

The relay used for protection of high voltage a.c. transmission line against earth fault is
(a) Instantaneous over current relay (b) Impedance relay
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104.

105.

106.

107.

108.

109.

110.

111.

112.

113.

114.

115.

(c) Reactance relay (d) MHO relay
T fgehetl .4, aﬁaaﬁﬁ&%ﬁaﬁ%aﬁaﬁraﬁﬁ&aﬁaww IR BT E

(@ 0° (b) 90°

(c) 90° ¥ R (d) 180°

TR TN H STTHR FoloRd Y Folord Sht WeTadT Shecll €, STel R SifeRd 70T
(a) I UTEE | (b) THFEEE |

(c) ¥ ST | (d) 0.8 Tw=rTH Tl |

g I AR T ¥ (Fehreret!) AT Temaxieh shuel: 50 25T Ue 60 2T W MRt 3t € af FHAd
TeATeRTehl Bt SATeeReT T g

(a) 500 =.m./. (b) 600 T.u./.

(c) 3000 =.9.f. (d) 3600 T.9.M.

T e, TR ¢4, 50 8T i UR0T TeX 1410 9./ W goi uR R 961 W | 39 TR | ufkd
¥RT <Rl 3YTT < A BT

(@) 508 (b) 477

© 3&F d) 0w

X UfeRTY Tedeh (FTER) T STANT FhG WK & HIeR & fohal ST € 2

(a) HiEeTd IO HIZX (b) TR HRoT Hiex

(c) U FHelld U1 HieX (d) oI qieX
TSR Y T AT {oh TehR i HIeX | BT & ?

(a) fgur g (b) ket qeashTet HIeX

(c) TgoheT w41 WX (d) U FHeAd UROT A

T FIeReTl .4, B0 Hie St S T W HE F @ 8, F Iq A1k AleRd 37 A STered wred
o 3T &

(@ (1-95)? (b)) A-5)

© ~1-5 d 1-4/S

TS V.41 ToAhTC ST+ h TLETH L7k T[0Teh O UTaTelt 9o et | grer &
(a) STHTR URTH 5N (b) &F g F R

(c) YR IVIH FRT (d) STH=R Ud &3 91T % §RT
afeeer foiistes o SF, 71 v Bt §, Fih

(a) T8 TSH TEAE |

(b) T 5F H IRETad &1+ T arTE = 0 °C § FHEATE |
(c) TR WA T T ST erdl € |
(d) € EH T ITAHE |

HVDC RIT AT i TRET & ford ufvwer faratstes s foanm s &

(a) e gRme foatsres (b)  SF, ufwy st

(c) Tara uRue faarsie (d) SREFTH 9 HrE @l

EHV T.41. TREUT #1723t Y&t & forar ufcaer foaistsh wai foa s &

(a)  aTean gRwe foetores (b)  SF, i faaisies

(c) Frrerie uRay ferasren (d) =IFaw e arae faee

3= el W4T, RS0 EATeH i YT 319 o [o6g GReT o ford Ret i ol St &
(a) dTchITeTeR 3T &Ry Ret (b)  wfqemer ket
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116.

117.

118.

119.

120.

121.

122.

123.

(c) Yfaama et (d) werRe

For protection of distribution line, the following circuit breakers may be considered :

1.  Bulk oil circuit breaker 2. Air blast circuit breaker
3. Air circuit breaker 4, Vacuum circuit breaker
Out of these

(a) 1 and 2 are used (b) 2 and 3 are used

(¢) 3 and4 are used (d) 1 and4 are used

The relay used for the protection of high voltage a.c. transmission line against power
swing is

(a) Instantaneous overcurrent relay (b) Impedance relay

(c) Reactance relay (d) MHO relay

A fault in transmission is highly severe from the point of view of RRRV if it is a

(a)  Short line fault (b) Long line fault

(¢c) Medium line fault (d) Generator fault

Simultaneous tripping of circuit breakers at both ends of a transmission line is achieved by
(a) Pilot protection (b)  Overcurrent protection

(c) Distance protection (d) None of the above

The following protection is not used in power transformer :
(a) Earth fault protection (b) Inter-turn fault protection
(c) Reverse power flow protection (d) Overfluxing protection

In case of bus bar fault, the bus zone relay

(a) must trip all the breakers connected to the bus
(b) must give an alarm for bus fault

(c) must trip one breaker connected to the bus

(d) none of the above

The voltage drop across the arc in an a.c. circuit breaker is
(a) leading the arc current by 90° (b) lagging the arc current by 90°
(c) in phase with the arc current (d) in phase opposit to the arc current

Match List — I with List — IT and select the correct answer using the codes given below the
lists

List -1 List - II
(Type of fault in generator) (Type of protection)

A.  Turn to turn fault 1.  MHO relay
B. Loss of excitation 2. Negative sequence over current relay
C. Unbalance loading 3.  Reverse power protection
D. Turbine failure 4.  Differential protection

A B C D
(a 1 2 3 4
(b) 4 1 2 3
(c) 2 1 3 4
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119.

120.

121.

122.

123.

d 3 3 1 2
foreeoT et Rt gRew & ot T ity faaistent W faem forar s gk &
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Tt — [ Gl — [1 | GHTerd shiterd S giadt & = 3 T3 i 1 T=nT ik el ST 1 99
FIoT
-1 T - 10

(S & 319 =T THR) (T & UFR)
A, HUEEIHIN 1. wetfe
B. SIS @l &l 2. HTCH A 3t OrT et
C. 3R 9R0 3. ChH IR &
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124. Which of the following statement is true for MHO relay ?
(a) Directional restrained over current relay
(b) Directional restrained over voltage relay
(c) Voltage restrained directional relay
(d) Voltage controlled overcurrent relay

125. Direction over current relay is used for which of the following ?
(a) Generator (b) Transformer
(c) Ring main distributor (d) None of these

126. Which one of the following statements is correct ? Arc in a circuit breaker is interrupted at
(a) zero current.
(b) maximum current.
(c) maximum voltage.
(d) None of these

127. Which of the following relay has the capability of anticipating the possible major fault in a
transformer ?

(a) Differential relay (b) Overcurrent relay
(c) Overfluxing relay (d) Buchholz relay
128. How many relays are used to detect interphase fault of a 3-phase system ?
(a) one (b) two
(c) three (d) six

129. Which of the following is the main relay for protecting 90% of transmission line-length in
the forward direction ?
(a) Directional overcurrent relay
(b)  Carrier current protective relay
(c) Impedance relay
(d) MHO-relay

130. Which is the preferred type of circuit breaker to be installed in high voltage system ?

(a)  Air blast circuit breaker. (b) Vacuum circuit breaker
(c) Bulk oil circuit breaker (d) None of these
131. The surge impedance of a 50 km long underground cable is 50 ohm. For a 25 km length it
will be
(a) 25 ohm (b) 50 ohm
(¢) 100 ohm (d) none of the above

132. If the fault current is 2000 A, the relay setting is 50% and CT ratio is 400 : 5, then plug
setting multiplier will be
(@ 10 (b) 15
() 25 (d 50

133. Negative sequence relay is normally used for which of the following ?
(a) Transformer (b) Generator
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124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

(¢) Transmission line (d) None of these

et et o e T 5§ 9 O e T 2
(a) <feren FRry sea a et

(b) <ferer FRiY S= ateear et

(c) dieear MUY < et
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(d) TTH I HE T |
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S
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134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

(c)  TREOT AT (d) T HIE T

The protection against direct lightening strokes and high voltage steep waves is provided by
(a) ground wires

(b) lightning arrestors only

(c) both lightning arresters and ground wires

(d) earthing of neutral

The minimum oil circuit breaker has less volume of oil because

(a) there is insulation between contacts.

(b) solids insulation is provided for insulating the contracts from earth.
(c) the oil between the breaker contacts has greater strength.

(d) none of the above

PSM for the relay having CT ratio = 400/5,

Fault current = 6000 A and percentage relay setting = 150 will be
(@ 5 (b) 10

(c) 75 (d 0.5

In a short circuits test on a circuit breaker, time to reach the peak re-striking voltage is 40
1 sec. Frequency of oscillation is

(a) 20kHz (b) 10kHz

(¢) 40kHz (d) None of the above

For a Buchholz relay, which of the following statement is not correct ?
(a) They protect the connecting cables.

(b) They indicate incipient faults

(c) They can be used in transformers provided with conservator

(d) They are gas actuated relays

The distance relay with inherent directional property is known as

(a) Impedance relay (b) Reactance relay

(c) Admittance relay (d) Ohm relay

Which of the following is not a short-circuit test of circuit breakers ?
(a) Dielectric test (b) Making capacity test
(c) Breaking capacity test (d) Duty cycle test

The unit protection section provides

(a) Primary protection (b)  Backup protection
(c) Simultaneous protection (d) Remote protection

Which relay is generally used for protection of a.c. motors against over load ?
(a) Impedance relay

(b) Thermal relay

(c) Buchholz relay

(d) Electromagnetic attraction type relay

Impedance relay is usually used for protection of
(a)  Short line (b) Longline
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(c) Medium line (d) For all above
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(a) T¥RT & T fogaRie & |

(b) TR ot STHIA F o= e & 39 foReRie far ST e |
(c) ot & ORI & Ter ot ot A g AF e e |
(d) ST F HE T

T fiet f5Teht CT 311 = 400/5, SIRT = 6000 A 7 Wiaer et @ = 150 € &1 PSM &

(@ 5 (b) 10

() 75 @ 05

T TR [T & T URwer T § YRR A-TreiehtT dieest as Jg o+ | 40 W sec T & |
et St g i g

(a) 20kHz (b) 10kHz

(c) 40kHz (d) ST H G S Tél

Te JeheresT Kol o ford 01 o i &1 e el e § 2
(a) o g TATCH hisTcel ot & H & |

(b) IR T IAAE |

(c) T PRI URONTH o T WA ol ST bt € |
(d) FTFIAAMATRAE |

T et Forae T ferss ®9 @ <1k 7707 81T §, Feardl &

(a)  wifcremen Ret (b) e et

(c) Ve et (d) 39 et

=1 5 @ B | iy foraisten o1 oy gy wietor TE € 2

(a) RIS UXeToT (b)  TAS &THT TeToT
(c)  STRIER &7 WRieTur (d) w1 = e
ZohTS GR&TT UOTIeAt el &

(a) TR GRETT (b) SR TIT

(c)  WEehifeTeh &t (d) e g

.41 AR ol SR GRet & ford i 9 el wgerd gt & 2

(a)  wiicamen Rt (b) i et

(c) THalewd Nt (d) To=Id Traenig SRTT TR ot et
s et Qrer=ra: Tt gRet & T gt & ?

(a) B A=A (b) oI A

(c) wEHH oI (d) ST gt fo

SES-08 31 Series-A



144. The time taken for a surge to travel 600 km long overhead transmission line is
(a) 6 sec. (b) 1 sec.
(¢) 0.02 sec. (d) 0.002 sec.

145. The function of the earth wire in an extra high voltage line is to
(a) prevent earth fault
(b) provide a safety measure from any high flying object
(c) provide a shield to the phase conductors from direct lightning stroke
(d) provide mechanical strength to the towers

146. The rate of rise of re-striking voltage (RRRV) is usually expressed in
(a) kV/mili sec (b) kV/usec
(c) V/sec (d) MV/usec

147. The main consideration for higher and higher voltage of transmission is to
(a) increase the efficiency of transmission
(b) reduce power losses
(c) increase power transmission capability
(d) Dboth (a) and (b) above

148. The reflection coefficient for a transmission line shown below at P is

Trans line p
L

ZU: JOO Q
§ Load =300 Q

Z, = Surge Impedance

(a) +1 (b)) -1
c O (d 0.5
149. The voltage across the circuit breaker contacts after final current is zero, is
(a) Recovery voltage (b)  Supply voltage
(c) Restriking voltage (d) None of these

150. The contact resistance of a circuit breaker is about
(@) 20 ohm (b) 2 ohm
(¢) 20 milli ohm (d) 20 micro ohm

151. Which of the following method is used for solving differential equations numerically ?
(a) Runge-Kutta method
(b) Gauss-Elimination method
(c) Newton-Raphson method
(d) None of these
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144. 600 for. . ot RRIT TRYT ATET i IR i § Uleehd (Ts7) ol G AT &
(a) 69. b) 19
(c) 0.029. (d) 0.002 9.
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152. The input impedance of an ideal Op-Amp circuit as given below is

—  AMAMA————
100 kO
VI Y le \ V.
10 / 0
§ 10 kO
@ 120kQ () 110kQ
(¢c) infinity (d 10kQ

153. In an inverting amplifier, the two input signals of an ideal Op-Amp are at the same
potential because
(a) the two input terminals are directly shorted internally.
(b) the input impedance of the Op-Amp is infinite.
(c) CMRR is infinity
(d) the open loop gain of the Op-Amp is infinity

154. When Z; << Z, the following circuit works as :

Vi +
_Vo
AV
(a) inverting amplifier ) (b)  Schmitt Trigger
(c) Non-inverting amplifier (d) Source follower

155. If the input V; of an Op-Amp, as shown in circuit below, is triangular, the output V, will be

C

Vi I I \ VO

(a) Square wave (b) Sine wave
(c) Triangular wave (d) Parabolic wave

156. If a 1 MHz carrier is amplitude modulated with a 5 kHz audio signal, the upper side
frequency is
(a) 1000 kHz (b) 1005 kHz
(¢) 995kHz (d) None of the above
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(c) CMRR 3<% |
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154, S9Z, << Z, & T = oo T uRkes S e

Vi——+
—V,,

MMV
(a) AT HaH® - (b) TR
(c) i Taten yade® (d) & ST
155. 2 uftaer 917 T © e Op-Amp H afE faeh v, Bryser & @t fia v, g :
——— MWMWA————
o R
(o]
2
(a) IR T (b) v
(c)  BISTERR T (d) TREAITHR T
156. a5 ww 1 MHz 5esh 5 kHz 3fifedt Tehd o A1 ATGeTd & af SOl O i g gt
(a) 1000 kHz (b) 1005 kHz
(c) 995 kHz (d) SWIFdH F HIE TR
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157.

158.

159.

160.

161.

162.

In the circuit shown below, the value of output Vo is

MWW

+ 1 Vo—AWWN, >
6 kO ———o 'V,
B I

(a +3V by -3V
(c) +71V d -7V

Solving x> — 2 = 0 by Newton-Raphson technique, when initial guess Xy = 1.0, then
subsequent estimate of x i.e. x; will be

(a) 1.414 (b) 1.5

(c) 2.0 (d) cannot be obtained

In which of the following methods proper choice of initial value is very important ?
(a) Bisection method (b) False position

(c) Newton-Raphson (d) Bairstow method

In analog-computer applications, integrators are preferred over differentiators because
gain of an integrator

(a) decreases with frequency

(b) increases with frequency

(c) does not change with frequency

(d) 1is zero for all frequencies

The circuit given below will work as a phase-shifter, if

MM

R,

E; A AAAAY >
——E,
| 1 +
11
C é
R3

(a) R, isavariable resistor (b) R, is avariable resistor

(¢) Rjisavariable resistor (d) Any of above

If the magnitude of the gain in the circuit shown below with switch S open is K, then with
switch closed gain will be

v S
—AW—L A
R 2R 2R
Vi oe—AMAN, > o,
(a) K72 N (b) 2K
(o) -K/2 (d -=-2K
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i T T e 7 AT V) A e
AN
110 12 kO

+ 1 V—AWAMN >
6 kQ oV,
+ 2 VoA, | 2

() +3V (b) -3V

() +7V d -7V

x? =2 = 0 B FZA-THH T § & HLA W, STaeh AR A x, = 1.0 &, T x T 3T
ST ST x, BT

(a) 1414 (b) 1.5

(c) 2.0 (d) T &I foRaT ST R
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(a) SRR fafy (b) e ST

() TR (d) s fat
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(d) TS GHTHS i Al Gt Sgiaat o ford A e € |
e feam e 9 ueh serr-forees i TE w1 S g, A
R

AW
R
E o A ~
>——0E0
1 >
C
R;
@ R, wEwREEEEEREE L (b) R, TR s
(c) R, & IRe-F AfcRIg e | (d) SWETH G HE

=1 zora T uftwer 9, 3fg e S & gol g1 W Ry i dfey & A K € 9 e & 91 gn |
AT T T &I

S
—AAA—L—AAAAA,
R 2R 2R
Vo
i —AAAAA, AN v
2 °
(a) K2 = (b) 2K
() -K2 (d 2K
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163.

164.

165.

166.

167.

168.

169.

170.

171.

The modes of operation in a differential amplifier is
(@ 01 (b) 02
(c) 03 d 04

The bandwidth of an RF tuned amplifier is dependent on
(a) Q factor of the tuned input circuit

(b)  Q factor of the tuned output circuit

(¢) Quiescent operating point

(d) All above

The use of a capacitive filter in a rectifier circuit gives satisfactory performance only when
the load

(a) current is high (b) voltage is low
(c) voltage is high (d) current is low

RLC tuned circuit has maximum impedance Z_ . = 70 kQ at f = 1000 kHz. Given
Q =100, the impedance becomes 50 kQ at frequency f given by

(a) 1000 %200 kHz (b) 1000 % 100 kHz

(c) 1000 % 10 kHz (d) 1000+ 5kHz

Which of the following amplifier circuits provides maximum gain band width product ?
(a) Differential amplifier (b) Cascade amplifier

(c) Common base amplifier (d) Common emitter amplifier

An Op-Amp has a slew rate of 4 V/us and a peak output swing of 10 volts. The full power
bandwidth will be

(a) 83.7kC/S (b) 80.7kC/S
(¢) 75.5KkC/S (d) 89.7kC/S

In a digital computer, compared to the integer operation, the floating point operation takes
(a) less time and less memory

(b) less time and more memory

(c) more time and more memory

(d) more time and less memory

1
An amplifier with middle band gain IAl = 500 has negative feed back IBl =77. If the

100
upper cut off without feed back were at 60 kHz, then with feedback it would become
(a) 10kHz (b) 12KkHz
(¢) 300kHz (d) 360kHz

In serial I/O communication, data flow can occur in
(a)  Synchronous format only

(b)  Asynchronous format only

(c) Either synchronous or asynchronous format
(d) Full duplex only
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169.
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171.

faeISt yaresh & e & Hew §

(@ 01 (b) 02

() 03 d 04
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(a) foriei werden (b) IS (W) wed
(c) W% 3R JaE® (d) e SCEIH FTH
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(a) 83.7kC/S (b) 80.7 kC/S

(c) 75.5kC/S (d) 89.7kC/S

3TehIg HITUTh § YUTTeh TshaT Sht ot B Wetiier fog Uishar ol &
(a) Y THT 3R FY T

(b) T THT 3R AT i

(c) ST THT S ST T
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TS YA T TeF 90U A Al = 500 T 0T a9 Bl =
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1

00 ¢ | 57 -3 g

SES-08 39 Series-A



172. The content of the accumulator in an 8085 microprocessor is not altered after the
execution of

(a) CIP3A (b) ANISC
(c) ORAB (d MVIA 03

173. In 8085 microprocessor to hold the instruction read from the memory, which of the
following is used ?
(a) Accumulator (b)  Stack pointer
(c) Program counter (d) Instruction register

174. The instruction that loads the contents of program counter with the content of HL register

pair is
(a) ANIData (b) PCHL
(c) PUSH POP (d XRAB

175. Access in magnetic drum memory is
(a) completely random
(b) sequential and cyclic
(c) partly random and partly cyclic and sequential
(d) acyclic sequential

176. The five flags in 8085 microprocessor are designated as
(a) Z,Cy,S,Pand AC (b) D,Z,S,Pand AC
(¢) Z,C,S,Pand AC (d) Z,Cy,S,DandAC

177. Which characteristic of a memory chip is called ac characteristic ?
(a) Power consumption (b) Bus loading
(c) Timing characteristic (d) All the above

178. What type of circuit is used at the interface point of an input port of 8085 ?
(a) Decoder (b) Tristate buffer
(c) Latch (d) None of the above

179. The software used to operate microprocessor based system is called
(a) Basic interpreter instruction (b) Firm ware

(c) Machine language code (d) Assembly language

180. A ROM is used to store the table for multiplication of two 8-bit unsigned integers. Correct

answer is
(a) 256x16 (b) 64 Kx8
(c) 4Kx16 d 64Kx16

181. How many interrupt control lines are there in 8085 microprocessor ?
(a 6 (b) 3
() 12 (d 16
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173.

174.

175.

176.

177.

178.

179.

180.

181.

8085 TTSShINTETR o TR & 3737 fohgeh FHa1e o a8 el aIgerd ?

(a) CPI3A (b) ANIS5C

(c) ORAB (d MVIAO3

8085 HIZSHITIER |, TId T U T4 TSI i &oe A o o7 0 & fohaqept yaim gran g 2
(a) THEIAR (b) T T

(c) IITH $13=X d) TR T

TE ST ST TTUTH 70T & ST=fer] bt HL TTSTeht I8 & 3o @ IS el ©

(a) ANI Data (b) PCHL

(c) PUSH POP (d XRAB

TR §H A | 7o

(a) RWTREY G DHT |
(b) THHF A TAFRETE |
(c) ¥ T Q ATgegeh qT MY T § Thig qAT HHF & |

(d) THEIFHERT |

8085 HIZSHIITAER | U FelTd ol Y1 fehaT ST &

(a) Z,Cy,S,P3RAC (b) D,ZS,P3RAC
(¢) Z,C,S,P3RAC (d Z,Cy,S,D3RAC

T T o I AT AT a ¢ ST oot & 2

(a)  ieRd STHT (b) = WROT

() HEF ATTeATor (d) o g

8085 o fordlt fasit W & Tty g W ford TerR ot IRwer Ugart el & 2
(a) Tewhrex (b) TEEZ T

(c) o= (d) SRFTH 9 HrE @l
HIZSHITTEER SN A= A & fordl U WTreaay Feerdl &

(a)  ¥oT AT SN (b) H IR

(c) AW HE (d) T A

TF ROM i &t 8-Tae sifafed quiteri & 70T s o fot aiferst st dfaa et o ot wger femar
AT E | TE IWE

(a) 256x16 (b) 64 Kx8
© 4Kx16 d) 64Kx16
8085 AT T Tohl 322 (STaRT) =07 g gt & 2
(a) 6 (b) 8

(o 12 d 16
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190.

191.

The number of output pins of a 8085 microprocessor are

(a 19 (b) 21

(c) 27 (d) 40

A maximum I/O space which can be addressed by 8088 CPU is
(a) 1024 (b) 65536
(c) 2000 (d) 2048
Which of the following interrupts has the lowest priority ?
(@) RSTS5.5 (b) RST7.5
(c) INTR (d) TRAP
The first practical microprocessor was introduced by

(a) National semi-conductor (b) Motorola
(¢) Fair Child (d) Intel

If the clock frequency of a 8085 microprocessor is 5 MHz, then time required to execute
an instruction of 18 T-states will be

(a) 3.6 usec (b) 0.36 usec

(©) 9.0 pusec (d 09 pusec
Transaction processing was made possible by the development of

(a) Direct access storage (b) Magnetic tape

(c) Mini computer (d) Cash register input

Which of the following is a correct definition of volatile memory ?
(a) It loses its contents at high ambient temperatures.

(b) Its contents are lost on failure of power supply.

(c) It has to be kept in air-tight boxes always.

(d) Itis the latest type of bubble memory.

The disadvantage of dynamic storage elements is that
(a) power to kept on

(b) information stored previously is lost

(c) storage cells are to be refreshed frequently

(d) none of these

A source program is the program written in
(a) English language (b)  Symbolic language
(c) Machine language (d) High level language

A semiconductor ROM is basically

(a) aset of flip-flop memory elements

(b) asequential circuit with flip-flops and gates
(c) acombinational logic circuit

(d) none of the above

182. T 8085 HIEhHIIEE H forert frid T 2t & 2
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184.

185.

186.

187.
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192.

(@ 19 (b) 21

(c) 27 (d) 40

T AfFRAT /O STe STt Uk 8088 T g, FRI TSH i ST Wehell &, B & |
(a) 1024 (b) 65536

(c) 2000 (d) 2048

frfefaa & i @ g2 ot F=aq wafewd gid € 2

(a) RSTS5.5 (b) RST75

(c) INTR (d) TRAP

T SERTReh HTZShIMTIER i U fehaT a7 o

(a) SIS A FreFeX §RT (b) IR ERT

(c) R =mEee gRT (d) 3=AFW

I T 8085 TISHITIETR ! Folsh 3gra S MHz 2 @ 18 T-%< & STR¥ & UIeH & # 99
URl

(a) 3.6 HTZH 4. (b)  0.36 T T.

(¢) 9.0 HZH 4. (d) 0.9 ATEH 4.
Frrfetiiad o foshma & e ufshar Tre gg o :

(a) Y UET HERUT Y (b) F=HEFTY

(c) T&IY FIUTH F (d) s dfsTem e |
FeTTeTee Wi o Hel IR &

(a) o9 URASN AIH W ZEh! [ T 1 g9 &l ST g |
(b) IR USTT Al ST R SHeR! oo WU oh1 g1 & STan g |
(c) U eHI argied 9o § T ST 8 |

(d) TE ST e A 5-9% (FeeT) Wi T |

et STEROT o bt T &

(a) TEX A T TSATE |

(b) & I GATET G GHI & Sl & |

(c) VSR Hold i R [THY HATTSaAT |

(d) T F g ot T

S T foran ST &

(a) TS wETH (b)  vcheRaTat s §
(c) TR s H (d) STER WY
TF Gdaretsh ROM STeRYd €9

(a) Terd-Temy fa awl e |

(b) T STIehiHh URTY &, ST fFeTu-TeATat a9 712 & S=ar & |
(c) U HIMEIHA AlTTeh IRIT & |

(d) SR H Q HIE T

The devices commonly used for serial data transfer to/from 8085 microprocessor are
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196.

197.

198.

199.

200.

192.

(a) Cassette tapes (b) Key boards
(c) Seven-segment LEDs (d) Memory

In a microcomputer, WAIT states are used to

(a) make the processor wait during DMA operation.

(b) make the processor wait during a power interrupt processing.
(c) make the processor wait during a power shut down.

(d) interface slow peripherals to the processor.

Microprogramming is a technique for

(a)  writing small programs

(b) programming the control steps of a computer
(c) programming the microprocessors

(d) programming input/output

The stack is nothing but a set of reversed

(a) ROM address space (b) T/O address space
(c) RAM address space (d) None of the above
Which of the following is not the transmission voltage in India ?

(a) 66kV (b) 132kV

(c) 264kV (d) 400kV

The instruction that performs the logic ‘AND’ operation between corresponding bits of
accumulator and 8 bit data specified by instruction is

(a) ANI Data (b) PUSH POP

(c) PCHL (d) RAL

Registers and counters are similar in the sense that they both

(a) store binary information

(b) are made from an array of flip-flops and gates integrated on a single chip
(c) count pulses

(d) are, in fact shift registers

The process of causing an unplanned branching operation to occur, usually initiated by
external system is called

(a) Masking (b) Iteration

(c) Interrupt (d) Debugging

In a 8085 microprocessor system with memory mapped I/O

(a) I/O devices have 8-bit addresses

(b) 1/O devices are accessed using IN and OUT instructions.

(c) There can be a maximum of 256 input devices and 256 output devices.

(d) Arithmetic and logic operations can be directly performed with the I/O data

8085 TTESHITTEGR T/ ST AR A5 & hi- | JferT Jor eielt & ?
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194.

195.

196.

197.

198.

199.

200.

(a) HES YT (b) e
(c) 7-¥TE= LEDs d) g

ATEshT R |, WAIT STaait 1w frefetiad & ford fopar s &
(a) DMA =Te % IR IR i 92 I & o |

(b)  VITRT ST TShHUT o IR TIHTR i a2 A & (o7 |

(c) IR ST & IR W &l 9 A & e |

(d) Hg UM (peripherals)  THER T e & ford |

fefetiad o ford mTesht Tt ue fafy &
(a) B T fereas & o |

(b)  GIOTH & HIOT UGT Rl WHITET & ford |
(c) HTSShITTEERT ht TIUTERT i o ferd |
(d) THaw/fTTa it Tt & o |

TS T WIE FS el ¢ dfosh Uk 9 Sl 3021 &

(a) ROM TS WH & (b) VO USH WH &
(c) RAM Ug¥ &g & (d) U H 9§ IS Tl
frefoifiad § § 9 9§ 9Rd § )07 ateedr 781 € ?

(a) 66kV (b) 132kV

(c) 264kV (d) 400 kV

T IR S Tk AND’ UR=Ie el €, 8-fae 3iiehe St 3o & gR1 favie w0 @ {53 13 & qen
TR & AIET ATehel o a, F &

(a) ANI Data (b) PUSH POP

(c) PCHL (d RAL

GTSTeRIE e TTUTeh Ush oRE § W& & Tk 3 31

(a) R GG THT A & |

(b) ToTT-TeATal o W ST 2] ol Ush Faq W FHTh oA shieh o1 S & |
(c) Ta=ih A€ |

(d) daTEtas €9 9 e s € |

Teh SYURATTST MG TRETAT ol WTshal Scd=T - & [o1d Il Ueh sl o ol WRe fohar
ST € ST e &

(a) ITGRT (b) T

© T (d) @i

Tk 8085 HTEShITIAGR o i Tl [/O & R Yegareea &

(a) /O g & 8-bit TSHAE |

(b) /O Ikt & o IN @27 OUT S9N % gRT fohar STan & |

(c) T8 3tfeeha 256 FHart it qor 256 fia gierar &t et € |

(d)  STHTTUTEE T ieheh TRETer WE-|ig /O 3iTehel o §RT fhd ST §ehdl & |
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